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Do not open this test booklet until you are told to do so 

Test Booklet Series   A 
Roll Number (As per Admit Card) 

        

 Post- Lower Division Clerk  
Time Allowed : Two hours Maximum Marks: 100 

 

INSTRUCTIONS 
 

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD 

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR 

MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST 

BOOKLET, IT CONTAINS 24 PAGES. 

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and 

Test booklet Series A, B, C or D carefully and without any omission or discrepancy at the 

appropriate places in the OMR Answer Sheet.  Any omission/discrepancy will render the 

Answer Sheet liable for rejection.  

3. This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English. 

Each item comprises four responses (answers). You will select the response which you want 

to mark on the Answer Sheet. In case you feel that there is more than one correct response, 

mark the response which you consider the best. In any case, choose ONLY ONE response for 

each item. 

4. You have to mark all your responses ONLY on the separate OMR Sheet provided. SEE 

DIRECTIONS IN THE OMR SHEET. 

5. All items carry equal marks.  

6. Before you proceed to mark in the OMR Sheet the response to various items in the Test 

Booklet, you have to fill in some particulars in the OMR sheet as per instructions sent to you 

with your Admit Card. 

7. After you have completed filling in all your responses on the OMR Sheet and the examination 

has concluded, you should hand over to the Invigilator the OMR Sheet and Test Booklet. 

8. Sheets for rough work are appended in the Test Booklet at the end. 

9. In case of any ambiguity in translation of any question, the English version of question paper 

will be treated as final. 

10. Penalty for wrong answers: 

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIATE IN ALL 

THE QUESTIONS. 

I. There are four alternatives for the answer to every question. For each question for which 

a wrong answer is given by the candidate one-third of the marks assigned to that question 

will be deducted as penalty. 

II. If a candidate gives more than one answer, it will be treated as a wrong answer even if 

one of the given answers happens to be correct and there will be same penalty as above 

to that question.  

III. If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty 

for that question. 

 

 
Signature of the Invigilator 

 
 

Signature of the Candidate 
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जब तक आपको ऐसा करने के लिए न कहा जाए तब तक इस परीक्षण पुस्तिका को न खोिें 

टेस्ट बुकिेट श्रृंखिा  A 
रोि नृंबर (एडलिट काडड  के अनुसार) 

        

 पद- लोअर डिडिजन क्लर्क  
  

डनर्धकररत समय : दो घंटे अडर्र्तम अंर्: 100 

 
 

1. परीक्षध शुरू होने रे् तुरंत बधद, आपर्ो यह जधंच र्र लेनी चधडहए डर् इस टेस्ट बुर्लेट में र्ोई अमुडित, फटध 

यध गधयब पृष्ठ आडद न हो। अगर ऐसध है, तो इसे पूरी टेस्ट बुर्लेट से बदल लें, इसमें 24 पृष्ठ हैं। 

2. रृ्पयध ध्यधन दें  डर् ओएमआर उत्तर पत्रर् में उडचत स्थधनो ंपर रोल नंबर और टेस्ट बुर्लेट सीरीज ए, बी, सी यध 

िी र्ो ध्यधनपूिकर् और डबनध डर्सी चूर् यध डिसंगडत रे् र्ोि र्रनध और भरनध उम्मीदिधर र्ी डजमे्मदधरी है। 

र्ोई भी चूर्/डिसंगडत उत्तर पत्रर् र्ो अस्वीर्धर र्रने रे् डलए उत्तरदधयी बनधएगी। 

3. इस टेस्ट बुर्लेट में 100 आइटम (प्रश्न) हैं। प्रते्यर् आइटम डहंदी और अंगे्रजी दोनो ंमें मुडित है। प्रते्यर् आइटम 

में चधर प्रडतडियधएं (उत्तर) शधडमल हैं। आप िह प्रडतडियध चुनेंगे डजसे आप उत्तर पत्रर् पर डचडित र्रनध चधहते 

हैं। यडद आपर्ो लगतध है डर् एर् से अडर्र् सही उत्तर हैं, तो उस उत्तर र्ो डचडित र्रें  डजसे आप सबसे अच्छध 

मधनते हैं। डर्सी भी स्थस्थडत में, प्रते्यर् आइटम रे् डलए रे्िल एर् उत्तर चुनें। 

4. आपर्ो अपने सभी उत्तरो ंर्ो रे्िल अलग से दी गई OMR शीट पर ही डचडित र्रनध होगध। OMR शीट में डदए 

गए डनदेश देखें। 

5. सभी आइटम रे् अंर् समधन हैं। 

6. टेस्ट बुर्लेट में डिडभन्न आइटमो ंरे् उत्तरो ंर्ो OMR शीट में डचडित र्रने से पहले, आपर्ो अपने एिडमट र्धिक 

रे् सधथ भेजे गए डनदेशो ंरे् अनुसधर OMR शीट में रु्छ डििरण भरने होगें। 

7. जब आप OMR शीट पर अपने सभी उत्तरो ंर्ो भरनध पूरध र्र लें और परीक्षध समधप्त हो जधए, तो आपर्ो OMR 

शीट और टेस्ट बुर्लेट डनरीक्षर् र्ो स पं देनध चधडहए। 

8. रफ िर्क  रे् डलए शीट टेस्ट बुर्लेट में अंत में संलग्न हैं। 

9. डर्सी भी प्रश्न रे् अनुिधद में डर्सी भी अस्पष्टतध रे् मधमले में, प्रश्न पत्र र्ध अंगे्रजी संस्करण अंडतम मधनध जधएगध। 

10. गलत उत्तरो ंरे् डलए दंि: 

I. प्रते्यर् प्रश्न रे् उत्तर रे् डलए चधर डिर्ल्प हैं। प्रते्यर् प्रश्न रे् डलए, डजसर्ध गलत उत्तर अभ्यथी द्वधरध 

डदयध जधतध है, उस प्रश्न रे् डलए डनर्धकररत अंर्ो ंमें से एर्-डतहधई अंर् दंि रे् रूप में र्धट डलए जधएंगे।  

II. यडद अभ्यथी एर् से अडर्र् उत्तर देतध है, तो उसे गलत उत्तर मधनध जधएगध, भले ही डदए गए उत्तरो ंमें 

से एर् सही हो और उस प्रश्न रे् डलए भी उपरोक्त रे् समधन दंि होगध।  

III. यडद र्ोई प्रश्न ररक्त छोड़ डदयध जधतध है, अथधकत अभ्यथी द्वधरध र्ोई उत्तर नही ंडदयध जधतध है, तो उस 

प्रश्न रे् डलए र्ोई दंि नही ंहोगध। 

 

 

 

लनरीक्षक के हिाक्षर 

 
 

उम्मीदवार के हिाक्षर 
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 PROFICIENCY IN COMPUTER 
OPERATION 

कंप्यूटर सचंालन में दक्षता 
1.  What is undo's shortcut key? 

a) Ctrl + U 

b) Ctrl + Shift + U 

c) Ctrl + Z  

d) Ctrl + Shift + Z 

'UNDO' का शॉटटकट क ं जी क्या है? 

(a) Ctrl + U 

(b) Ctrl + Shift + U 

(c) Ctrl + Z 

(d) Ctrl + Shift + Z 

2.  A light-sensitive device that converts 
the printed text, drawing, or other 
images into digital form is called ____ 

 
a) Plotter 

b) Printer 

c) Scanner 

d) OMR 

एक प्रकाश-संवेदनशील उपकरण जो म द्रित पाठ, ड्राइंग 

या अन्य छववयों को डिजजटल रूप में पररवर्तटत करता है, 

उसे कहा जाता है___ 

a) प्लॉटर  

b) प्रिंटर 

c) स्कैनर  

d) ओ. एम. आर. 

3.  What is the motherboard? 
 
a) Software 

b) Hardware 

c) C.P. U 

d) Operating System 

मदरबोिट क्या है?  

(a) सॉफ़्टवेयर 

(b) हार्डवेयर 

(c) सी.पी. यू 

(d) ऑपरेटटिंग ससस्टम 
 

4.  
The "S" in HTTPS stands for? 
a) Selected 

b) Secure 

c) Software 

d) System 

HTTPS में "S" का क्या मतलब है? 

(a) सलेक्टर् 

(b) ससक्युर 

(c) सॉफ़्टवेयर 

(d) ससस्टम 
 

5.  Which of the following file formats is 
used to save PowerPoint 
presentations? 

a) .pptx 

b) .docx 

c) .xlsx 

d) .jpg 

 

र्नम्नललखित में से ककस फाइल प्रारूप का उपयोग 

पावरप्वाइंट प्रस्त र्तयों को सहेजने के ललए ककया जाता है? 

a) .pptx 

b) .docx 

c) .xlsx 

d) .jpg 

6.  What does WWW stand for? 
a) Working window web 

b) Web window word 

c) World Wide Web 

d) None of these 

WWW का पूरा रूप क्या है?  
(a) वर्किं ग प्विंर्ो वेब 
(b) वेब प्विंर्ो वर्ड 
(c) वर्लर्ड वाइर् वेब 
(d)  इनमें से कोई नह िं 
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7.  E-mail stands for? 
a) Electrical mail 

b) Electronic messaging service 

c) Electronic mail 

d) All of these 

ईमेल का पूरा रूप क्या है? 
(a) इलेक्ट्क्िकल मेल 
(b) इलके्िॉननक मैसेक्ट् िंग सेवा 
(c) इलके्िॉननक मेल 
(d) इनमें से सभी 

8.  Portrait and Landscape in MS Excel are 
a) Page Orientation 

b) Paper Size 

c) Page Layout 

d) All of above 

MS Excel में पोटे्रट और लैंिस्केप क्या हैं?  
(a) पे  ऑर एन्टैशन 
(b) पे  साइज़ 
(c) प े लेआउट 
(d) ऊपर के सभी 

9.  A set of computer programs used in a 
computer to perform different tasks is 
called 
 
a) computer instructions 

b) processor 

c) software 

d) utility 

कंप्यूटर पर ववलिन्न कायों को करने के ललए 
उपयोग ककए जाने वाले कंप्यूटर प्रोग्रामों के एक 
समूह को कहा जाता है 
a) किं प्यूटर ननरे्दश  
b) रोसेसर  
c) सॉफ्टवेयर  

d) उपयोगगता  

10.  A _________ typically connects 

personal computers within a very 

limited geographical area, usually 

within a single building. 

a) VPN 

b) FAN 

c) PAN 

d) LAN 

 _________ आम तौर पर एक बहुत ही सीममत 
भौगोमिक क्षेत्र में, आमतौर पर एक ही इमारत के 
भीतर व्यक्ततगत कंप्यूटरों को जोड़ता है। 
a) वी.पी.एन. 
b) एफ.ए.एन. 
c) पी.ए.एन. 
d) एल.ए.एन. 

11.  Which of the following is a primary 

memory?  

a) Floppy 

b) RAM 

c) Hard disk 

d) ROM 

निम्िमिखित में से कौि सी प्राथममक मेमोरी है? 
a) फ्लॉपी 
b) रैम (RAM) 
c) हार्ड डर्स्क 
d) रोम (ROM) 

12.  _____Tags, when placed on animal, 
can be used to record and track in a 
database all of the animal’s 
movements. 

a) POS 

b) RFID 

c) GPS 

_____टैग, जब जानवरों पर रिे जात ेहैं, तो 
उनका उपयोग जानवरों की सिी गर्तववधियों को 
िेटाबेस में ररकॉिट करने और टै्रक करने के ललए 
ककया जा सकता है।  
a) पी ओ एस 
b) आर एफ आई र्ी 
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d) PPS c)  ी पी एस 

d) पी पी एस 

13.  Which of the following operating 
system is developed by Apple? 
a) Windows 10 

b) Android 

c) Windows Vista 

d) macOS 

निम्िमिखित में से कौि सा ऑपरेटटगं मसस्टम 
एप्पि द्वारा ववकमसत ककया गया है? 
a) वविंर्ोज 10 
b) एिंड्रॉइर् 
c) वविंर्ोज ववस्टा 
d) मैकओएस 

14.  Which of the following is the most 
common tool used to restrict access to 
a computer system? 

a) User logins 

b) Computer keys 

c) Access-control Software 

d) Passwords 

कंप्यूटर मसस्टम तक पहुुँच को प्रनतबंधित करिे के 
मिए निम्ि में स ेकौि सा सबसे आम उपकरण है? 
a) यूजर लॉगिन 
b) किं प्यूटर क िं जजयााँ 
c) एक्सेस-किं ट्रोल सॉफ़्टवेयर 
d) पासवर्ड 

15.  What is the technology used to read 
pencil or pen marks on a multiple-choice 
answer sheet called? 

a) MICR 

b) OMR 

c) OCR 

d) FTP 

बहुववकल्पीय उत्तर पुक्स्तका पर पेंमसि या पेि के 
निशाि पढ़िे के मिए इस्तेमाि की जािे वािी 
तकिीक को तया कहते हैं? 
a) एम.आई.सी.आर. 
b) ओ.एम.आर. 
c) ओ.सी.आर. 
d) एफ.टी.पी. 

16.  Which is NOT an input device?  
a) Key Board 

b) Camera 

c) Mouse 

d) Plotter 

कौि सा इिपुट डिवाइस िहीं है? 
a) कीबोर्ड 
b) कैमरा 
c) माउस 
d) प्लॉटर 

17.  Integrated Circuit (IC) chips used in 
computers are made with ____. 
 
a) Silicon 

b) Copper 

c) Gold 

d) Silver 

कंप्यूटर में उपयोग ककए जािे वािे इंटीगे्रटेि सककि ट 
(IC) धचप्स ____ से बिे होते हैं। 
a) सससलकॉन 
b) तािंबा 
c) सोना 
d) चािंदी 
 

18.  What is the full form of SIM? 
a) Subscriber Idol Mechanism 

b) Semi Idol Module 

c) Substitute Identity Module 

d) Subscriber Identity Module 

मसम का पूणि रूप तया है? 
a) सब्सक्राइबर आइर्ल मैकेननज्म 
b) सेमी आइर्ल मॉड्यूल 
c) सब्सक्राइबर आइर्ेंटटटी मॉड्यूल 
d) सब्स्टीट्यूट आइर्ेंटटटी मॉड्यूल 
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19.  The small element at the base of a 
mouse is called _________. 
a) Ball Point 

b) Ball Pin 

c) Track Ball 

d) Roller Ball 

माउस के आिार पर छोटे तत्व को _ _ _ _ _ _ 
_ _ _ कहा जाता है।  
a) बॉल प्वाइिंट  
b) बॉल प्पन 
c) िैक बॉल  

रोलर बॉल 

20.  Which among the following is the 
smallest unit in an image in a computer 
screen?  
a) Unit 

b) Array 

c) Pixel 

d) Resolution 

 

कंप्यूटर स्रीि पर छवव में निम्िमिखित में से 
कौि सी सबसे छोटी इकाई है? 
a) यूननट 
b) ऐरे 
c) वपक्सेल 
d) रेजोल्यूशन 

 

 INTELLIGENCE AND REASONING सामान्य ब द्धिमत्ता और रीजर्नगं 
 

21.  Choose the pair that best represents a 
similar relationship to the one expressed 
in the original pair of words. 
PETAL : FLOWER 
 
a) salt : pepper 

b) tire : bicycle 

c) base : ball 

d) sandals : shoes 

उस जोडी को च नें जो शब्दों की मूल जोडी में 
व्यक्त ककए गए एक समान संबंि का सबसे 
अच्छा प्रर्तर्नधित्व करती है। 
पंि डी:  फूल 
a) नमकः काल  समर्ड  
b) टायरः साइर्कल  
c) बेसः बॉल  

d) सैंर्लः  ूते 

22.  Architect: Building :: Sculptor : ? 
a) Museum 

b) Stone 

c) Chisel 

d) Statue 

आककट टेक्ट : िवन :: मूर्तटकार : ? 
a) सिंग्रहालय 
b) पत्थर 
c) छेर्द  
d) रनतमा 

 

23.  In a certain code language, the word 
CODE is written as 3145 and the word 
FILE is written as 6595. Using the same 
coding pattern, how would the word LIFE 
be written? 
 
a) 9653 

b) 9536 

c) 5963 

d) 9656 

एक र्नजचचत कोि िाषा में, CODE शब्द को 
3145 के रूप में ललिा जाता है और FILE शब्द 
को 6595 के रूप में ललिा जाता है। एक ही 
कोडिगं पैटनट का उपयोग करके, LIFE शब्द कैस े
ललिा जाएगा? 
a) 9653 
b) 9536 
c) 5963 

d) 9656 
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24.  A woman says, "If you reverse my own 
age, the figures represent my husband's 
age. He is, of course, senior to me and 
the difference between our ages is one-
eleventh of their sum." The woman's age 
is 
 
a) 23 years 

b) 34 years 

c) 45 years 

d) None of these 

एक मद्रहला कहती है, "अगर आप मेरी ि द की 
उम्र को उलटत ेहैं, तो आंकडे मेरे पर्त की उम्र 
का प्रर्तर्नधित्व करत ेहैं। वह र्नजचचत रूप से 
म झसे वररष्ठ हैं और हमारी उम्र के बीच का 
अंतर उनकी रालश का ग्यारहवा ंद्रहस्सा है। मद्रहला 
की आय  
a) 23 वर्ड 
b) 34 वर्ड 
c) 45 वर्ड 
d) इनमें से कोई भी नह िं है 

25.  In a certain code language: 

bR is written as Br, 

dF is written as Df, and 

hJ is written as Hj. 

Following the same pattern, how would 

mK be written? 

a) MK 

b) Mk 

c) mK 

d) mk 

एक र्नजचचत कोि िाषा में bR को Br के रूप 
में ललिा जाता है, dF को Df के रूप में ललिा 
जाता है, और hJ को Hj के रूप में ललिा जाता 
है। 
उसी पैटनट का पालन करत ेह ए, mK. कैस ेललिा 
जाएगा?  

a) MK 
b) Mk 
c) mK 

d) mk 

26.  A woman introduces a man as the son of 
the brother of her mother. How is the 
man related to the woman? 
 
a) Brother 

b) Uncle 

c) Nephew 

d) Cousin 

एक मद्रहला एक प रुष का पररचय इस प्रकार देती 
है कक वह उसके मााँ के िाई का बटेा है। उस 
प रुष का मद्रहला से क्या संबंि है? 

a) भाई 
b) र्ार्ा 
c) भती ा 
d) र्र्ेरा भाई 

27.  You are a manager at a company, and 
one of your team members, Bryan, is 
visibly upset during a meeting. When 
you ask if everything is okay, Bryan 
hesitates but says, "I’m fine." However, 
you notice that Bryan has been quieter 
than usual and less engaged in work 
over the past few days. 
 
As a manager, what should you do next? 
 

a) Ignore the situation and assume 

Bryan will manage on their own. 

आप एक कंपनी में प्रबंिक हैं, और आपकी टीम 
के सदस्यों में से एक, ब्रायन, एक बैठक के दौरान 
स्पष्ट रूप से परेशान है। जब आप पूछते हैं कक 
क्या सब क छ ठीक है, तो ब्रायन द्रहचककचाता है 
लेककन कहता है, "मैं ठीक हूाँ।" हालााँकक, आप 
देिते हैं कक ब्रायन वपछल ेक छ द्रदनों से सामान्य 
से अधिक शांत हैं और काम में कम लगे ह ए हैं।  
एक प्रबंिक के रूप में आपको आग ेक्या करना 
चाद्रहए?  
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b) Publicly ask Bryan in the next team 

meeting why they seem upset. 

c) Send an email to the entire team 

reminding them to stay focused on 

work. 

d) Have a private conversation with 

Bryan after the meeting to express 

concern and offer support. 

a) क्ट्स्थनत को न रअिंर्दा  करें और मान लें र्क 
ब्रायन अपने र्दम पर रबिंधन करेंगे।  

b) अगल  ट म बठैक में सावड ननक रूप से 
ब्रायन से पूछें र्क वे परेशान क्यों टर्दखते हैं।  

c) पूर  ट म को काम पर ध्यान कें टित रखन े
के सलए यार्द टर्दलाते हुए एक ईमेल भे ें।  

d) बैठक के बार्द गर्िंता व्यक्त करने और 
समथडन रे्दने के सलए ब्रायन के साथ नन ी 
बातर्ीत करें। 

28.  There are seven persons A, B, C, D, E, F 
and G sitting in a line facing west. E is to 
the immediate right of G. B is at one of 
the extreme ends and has E as his 
neighbor. G is between E and F. C is 
sitting second from the south end. Who 
is sitting at the southern end? 

a) A 

b) B 

c) C 

d) E 

सात लोग A, B, C, D, E, F और G एक 
पंजक्त में पजचचम की ओर बठैें हैं। E, G के ठीक 
दाद्रहनी ओर बैठा है। B एक छोर पर बैठा है और 
उसका पडोसी E है। G, E और F के बीच में 
बैठा है। C, दक्षक्षणी छोर से दसूरा बठैा है। दक्षक्षणी 
छोर पर कौन बठैा है?   
(a) A 
(b) B 
(c) C 
(d) E 

29.  What will be the difference between the 
sum of the odd digits and the sum of the 
even digits in the number 857423? 

a) 0 

b) 1 

c) 2 

d) None of these 

संख्या 857423 में ववषम अंकों का योग और 
सम अंकों का योग के बीच अंतर क्या होगा? 
(a) 0 
(b) 1 
(c) 2 
(d) इनमें से कोई नह िं 

30.  After arranging the given words 
according to dictionary order, which 
word will come at ‘Third’ position? 
1. Special 
2. Speck 
3. Species 
4. Speckle 
5.  Spectacle 

a) Special 

b) Speckle 

c) Speck 

d) Species 

 

टिए गए शब्िों को शब्िकोश रम के अिुसार 
व्यवक्स्थत करिे के बाि कौि सा शब्ि ‘तीसरे’ 
स्थाि पर आएगा? 
1. Special 

2. Speck 
3. Species 
4. Speckle 
5. Spectacle 

a) Special 
b) Speckle 
c) Speck 

d) Species 
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31.  Four words have been given, out of 
which three are alike in some manner 
and one different. Select the odd one? 
a) Europe 

b) China 

c) South America 

d) Africa 

 

चार शब्ि टिए गए हैं, क्जिमें से तीि ककसी ि 
ककसी तरह से समाि हैं और एक अिग है। बेमेि 
शब्ि का चयि करें? 
a) यूरोप 
b) चीन 
c) दक्षिण अमरेरका 
d) अफ्रीका 

32.  In a certain code 'SEQUENCE' is coded 
as 'FDOFVRFT’. How is 'CHILDREN' 
coded in that code? 
 

a) OFESJMID 

b) OFSEMJID 

c) OFSEJIMD 

d) OFSEJMID 

एक र्नजचचत कोि में ''SEQUENCE'' को 
FDOFVRFT के रूप में कोि ककया जाता है। 
उस कोि में 'CHILDREN' को कैस ेकोि ककया 
जाता है?  

a) OFESJMID 
b) OFSEMJID 
c) OFSEJIMD 

d) OFSEJMID 

33.  In a certain code language, ‘FOX’ is 
coded as ‘108’ & ‘SOUP’ is coded as 
‘148’. How will ‘UPSIDE’ be coded in that 
language? 

a) 528 

b) 525 

c) 450 

d) 395 

 

एक निक्चचत कोि भाषा में, ‘FOX’ को ‘108’ 
और ‘SOUP’ को ‘148’ के रूप में कोडित ककया 
गया है। उस भाषा में ‘UPSIDE’ को ककस प्रकार 
कोडित ककया जाएगा?  
a) 528 
b) 525 
c) 450 
d) 395 

34.  "All employees who work in the 
marketing department are required to 
attend weekly strategy meetings. Some 
employees who attend the strategy 
meetings also work in the sales 
department. Therefore, all employees 
who work in the sales department are 
required to attend the weekly strategy 
meetings." 
Which of the following conclusions is 
valid based on the given statement? 
 
a) All employees in the marketing 

department work in the sales 

department. 

b) No employees in the sales 

department attend the weekly 

strategy meetings. 

c) Some employees who work in the 

sales department are required to 

attend the weekly strategy meetings. 

"ववपणन वविाग में काम करने वाले सिी 
कमटचाररयों को साप्ताद्रहक रणनीर्त बैठकों में 
िाग लेना आवचयक है। रणनीर्त बैठकों में िाग 
लेने वाले क छ कमटचारी बबक्री वविाग में िी काम 
करत ेहैं। इसललए, बबक्री वविाग में काम करने 
वाले सिी कमटचाररयों को साप्ताद्रहक रणनीर्त 
बैठकों में िाग लेना आवचयक है। 
र्नम्नललखित में से कौन सा र्नष्कषट द्रदए गए 
कथन के आिार पर मान्य है?  
 
a) प्वपणन प्वभाग के सभी कमडर्ार  बबक्री 

प्वभाग में काम करत ेहैं। 
b) बबक्री प्वभाग में कोई भी कमडर्ार  

साप्ताटहक रणनीनत बठैकों में भाग नह िं 
लेता है। 



Page 10 of 24 
 

d) All employees in the marketing 

department are also required to work 

in the sales department. 

c) बबक्री प्वभाग में काम करने वाले कुछ 
कमडर्ाररयों को साप्ताटहक रणनीनत बठैकों 
में भाग लेना आवश्यक है। 

d) प्वपणन प्वभाग के सभी कमडर्ाररयों को भी 
बबक्री प्वभाग में काम करना आवश्यक है। 

35.  ‘Family’ is related to ‘Upbringing’ in the 
same way as ‘School’ is related to 
__________. 
a) Education 

b) Parents 

c) Student 

d) Syllabus 

 

'पररवार' का संबंि 'पािि-पोषण' से उसी प्रकार 
है क्जस प्रकार 'ववद्यािय' का संबंि 
__________ स ेहै। 
a) सशिा 
b) माता-वपता 
c) छात्र 
d) पाठ्यक्रम 

36.   Arrange the following words in a logical 
and meaningful order? 
1. Casting 
2. Acting 
3. Film Shooting 
4. Final Film 
5. Editing 

 
a) 3, 2, 4, 1, 5 

b) 1, 2, 5, 3, 4 

c) 1, 3, 5, 2, 4 

d) 1, 2, 3, 5, 4 

 

निम्िमिखित शब्िों को ताककि क और साथिक 
रम में व्यवक्स्थत करें? 
1. काजस्टिंि 
2. असिनय 
3. फफल्म शूटटिंि 
4. अिंनतम फफल्म 
5. सिंपादन 
a) 3, 2, 4, 1, 5 
b) 1, 2, 5, 3, 4 
c) 1, 3, 5, 2, 4 
d) 1, 2, 3, 5, 4 

37.  Select the option in which the words 
share the same relationship as that 
shared by the given pair of words. 
Temple : Worship 
a) Church : Prayer 

b) University : President 

c) Garden : Plants 

d) Sun Temple : Kodark 

उस ववकल्प का चयि करें क्जसमें शब्ि उसी 
ररचते को साझा करते हैं जो टिए गए शब्ि युग्म 
द्वारा साझा ककया गया है। मंटिर : पूजा 
a) चचड : प्रार्डना 
b) ववश्वववद्यालय : राष्ट्ट्रपनत 
c) उद्यान : पौध े
d) सूयड मिंटदर : कोर्ाकड  

38.  Looking at the family picture, Sunita said 
“She is my father’s father-in-law’s wife’s 
son’s only sister”. How is the person in 
the photo is related to Sunita’s father? 
 

a) Mother 

b) Wife 

c) Sister-in-law 

d) Daughter 

पाररवाररक तस्वीर को िेिते हुए सुिीता िे कहा, 
“वह मेरे वपता के ससुर की पत्िी के बेटे की 
इकिौती बहि है”। तस्वीर में टिि रहा व्यक्तत 
सुिीता के वपता से ककस तरह संबंधित है? 
a) मााँ 
b) पत्नी 
c) िािी 
d) बेटी 
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39.  Four students have the following roll 
numbers: 

1. 34816 

2. 58294 

3. 12638 

4. 73645 

Which of the following roll numbers does 
not belong to the group? 
 

a) 34816 

b) 58294 

c) 12638 

d) 73645 

चार छात्रों के पास र्नम्नललखित अन क्रमांक हैं 
1. 34816  
2. 58294  
3. 12638  
4. 73645 
र्नम्नललखित में से कौन सा अन क्रमांक समूह से 
संबंधित नहीं है? 
a) 34816 
b) 58294 
c) 12638 

d) 73645 

40.  Rahul is standing facing a particular 
direction initially. Then he turns 900 
clockwise, after that he turns 1800 
anticlockwise. Then he turns 1350 
anticlockwise. He finally turns 1800 
clockwise. Now, he is facing the north-
east direction. In which direction was 
Rahul facing initially before taking any 
turn?  
 
a) South 

b) North 

c) West 

d) East 

 

राहुि प्रारंभ में एक ववशेष टिशा की ओर मंुह 
करके िड़ा है। किर वह 900 िक्षक्षणावति घूमता 
है, उसके बाि वह 1800 वामावति घूमता है। किर 
वह 1350 वामावति घूमता है। वह अंत में 1800 
िक्षक्षणावति घूमता है।अब, वह उत्तर-पूवि टिशा की 
ओर मंुह करके िड़ा है। कोई भी मोड़ िेिे से 
पहिे राहुि शुरू में ककस टिशा की ओर मंुह करके 
िड़ा था? 
a) दक्षिण 
b) उत्तर 
c) पजश्चम 
d) पूवड 

 

 GENERAL AWARENESS सामान्य जागरूकता 
41.  Which Indian wrestler won the bronze 

medal in the men’s 57kg wrestling 
category at the Paris 2024 Olympic 
Games? 

a) Ravi Kumar Dahiya 

b) Aman Sehrawat 

c) Bajrang Punia 

d) Sushil Kumar 

ककस िारतीय पहलवान ने परेरस 2024 ओलवंपक िेलों 
में प रुषों की 57 ककग्रा क चती शे्रणी में कांस्य पदक 
जीता?  

a) रप्व कुमार र्दटहया 
b) अमन सहरावत 
c) ब रिंग पुननया 
d) सुशील कुमार 

42.  “Eco Mark” is given to the Indian 
products that are?  
a) Pure and unadulterated 

b) Rich in proteins 

c) Environment friendly 

d) Economically viable 

“इको माकि ” उि भारतीय उत्पािों को टिया जाता है 
जो 
a) श द्ध और समलावट रटहत हों 
b) प्रोटीन से िरपूर हों 
c) पयाडवरण के अन कूल हों 
d) आगर्डक रूप से व्यवहायड हों 



Page 12 of 24 
 

43.  Where is the National War Memorial 
located?  
a) Mumbai 

b) Lucknow 

c) Bhopal 

d) New Delhi 

 

 राक्रिय युद्ि स्मारक कहाुँ क्स्थत है ? 
a) म िंबई 
b) लखनऊ 
c) िोपाल 
d) नई टदल्ली 

44.  Under what circumstances can be 
Fundamental Rights be suspended?  
a) When the martial law is in force 

b) During President’s rule 

c) During Financial emergency 

d) When the national emergency is in 

Operation 

 

ककि पररक्स्थनतयों में मौमिक अधिकारों को नििंबबत 
ककया जा सकता है? 
a) जब माशडल लॉ लािू हो 
b) राष्ट्ट्रपनत शासन के दौरान 
c) ववत्तीय आपातकाल के दौरान 
d) जब राष्ट्ट्रीय आपातकाल लािू हो 

45.  Under University category, First Rank in 
NIRF 2024 is of : 

a) Indian Institute of Science, 

Bengaluru 

b) Jawaharlal Nehru University 

c) Jamia Millia Islamia 

d) Banaras Hindu University 

ववचवववद्यालय शे्रणी के तहत, NIRF 2024  में 
प्रथम स्थान पर हैैः  

a) भारतीय प्वज्ञान सिंस्थान, बेंगलुरु  
b)  वाहरलाल नेहरू प्वश्वप्वद्यालय  
c)  ासमया समसलया इस्लासमया 
d) बनारस टहिंर्द ूप्वश्वप्वद्यालय 

 
 
 

46.  Samarth Portal is: 
a) University Information Management 

System 

b) National Education Information  System 

c) Electronic Resource and Office 

Management System 

d) None of the above. 

समथट पोटटल हैैः 
a) प्वश्वप्वद्यालय सूर्ना रबिंधन रणाल   
b) राष्ट्ि य सशक्षा सूर्ना रणाल  
c) इलेक्िॉननक सिंसाधन और कायाडलय रबिंधन 

रणाल  
d) उपरोक्त में से कोई नह िं 

47.  Who is the Father of Indian Space 
Research?  

a) Vikram Sarabhai 

b) A.P.J Abdul Kalam 

c) S. Chandrasekhar 

d) Dr. S. Somanath 

भारतीय अंतररक्ष अिुसंिाि के जिक कौि हैं? 
a) ववक्रम सारािाई 
b) ए.पी.जे अब्द ल कलाम 
c) एस. चिंद्रशेखर 

d) र्ॉ. एस. सोमनार् 
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48.  In case, a President dies while in office, 
the Vice-president can act as President 
for a maximum period of  
a) 3 months 

b) 6 months 

c) 1 year 

d) Till the completion of the original term 

of the deceased President 

 

यटि रारिपनत की पि पर रहते हुए मतृ्यु हो जाती है, 
तो उपरारिपनत अधिकतम अवधि तक रारिपनत के 
रूप में कायि कर सकता है 
a) 3 महीने 
b) 6 महीने 
c) 1 वर्ड 
d) टदविंित राष्ट्ट्रपनत के मूल कायडकाल के पूरा होने 
तक 

49.  The BRICS bloc consists of 
a) Brazil, Russia, India, Canada, and 

South Africa 
b) Brazil, Russia, India, China, and South 

Africa 
c) Bangladesh, Romania, India, China, 

and South Africa 
d) Brazil, Romania, India, Cambodia, and 

South Africa 

BRICS समूह में कौन-कौन से देश शालमल हैं?  
a) ब्रा ील, रूस, भारत, कनार्ा और र्दक्षक्षण 

अफ्रीका 
b) ब्रा ील, रूस, भारत, र्ीन और र्दक्षक्षण अफ्रीका 
c) बािंग्लारे्दश, रोमाननया, भारत, र्ीन और र्दक्षक्षण 

अफ्रीका 
d) ब्रा ील, रोमाननया, भारत, किं बोडर्या और र्दक्षक्षण 

अफ्रीका 
50.  In the context of cyber security, which 

of the following is considered a 'white 
hat' hacker? 
a) An individual who hacks for malicious 

purposes 

b) An individual who hacks for ethical 

reasons, with permission 

c) An individual who hacks without 

permission but does not cause harm 

d) An individual who is skilled in bypassing 

corporate networks 

साइबर स रक्षा के संदिट में, र्नम्नललखित में से कौन 
सा 'व्हाइट हैट' हैकर माना जाता है?  

a) वह व्यक्ट्क्त  ो र्दभुाडवनापूणड उद्रे्दश्यों के सलए 
हैक करता है 

b) वह व्यक्ट्क्त  ो नैनतक कारणों से हैक करता 
है, अनुमनत के साथ 

c) वह व्यक्ट्क्त  ो अनुमनत के बबना हैक करता 
है, लेर्कन कोई नुकसान नह िं करता 

d) वह व्यक्ट्क्त  ो कॉपोरेट नेटवकड  को बायपास 
करने में सक्षम है 

51.  What is the primary purpose of the 
Kyoto Protocol? 
a) To protect endangered species 

b) To reduce greenhouse gas emissions 

c) To regulate international trade 

d) To promote nuclear disarmament 

क्योटो प्रोटोकॉल का प्राथलमक उद्देचय क्या है?  
(a) लुप्तराय र ानतयों की रक्षा करना 
(b) ग्रीनहाउस गैसों का उत्स डन कम करना 
(c) अिंतरराष्ट्ि य व्यापार को प्वननयसमत करना 
(d) परमाण ुननरस्रीकरण को बढावा रे्दना 
 

52.  The Academic Bank of Credits (ABC) is 
used for: 
a) Opening, closing, and verifying student 

academic accounts. 

b) Maintaining the integrity, authenticity, 

and confidentiality of student credits. 

एकेिेलमक बैंक ऑफ के्रडिट (ए. बी. सी.) का उपयोग 
र्नम्नललखित के ललए ककया जाता हैैः 

a) छारों के शैक्षणणक खाते खोलना, बिंर्द करना 
और उनका सत्यापन करना।  

b) छार के्रडर्ट की अखिंर्ता, रामाणणकता और 
गोपनीयता बनाए रखना। 
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c) Enabling credit transfer and 

recognition. 

d) All of the above. 

c) ऋण हस्तािंतरण और मान्यता को सक्षम 
बनाना।  

d) उपरोक्त सभी। 

53.  What medal did Neeraj Chopra win in the 
men's javelin throw event at the Paris 
2024 Olympics? 

a) Silver 

b) Gold 

c) Bronze 

d) None 

पेररस 2024 ओलंवपक में प रुषों की िाला फें क स्पिाट 
में नीरज चोपडा ने कौन सा पदक जीता था?  

a) ससर्लवर  
b) गोर्लर्  
c) ब्रों  

d) कोई नह िं 
54.  NIEPA has its origin in 1962 as  

 
a) Asian Regional Centre for Educational 

Planners, Administrators and 

Supervisors 

b) National Staff College for Educational 

Planners and Administrators 

c) Asian Institute of Educational Planning 

and Administration 

d) National Institute of Administration 

and Educational Planning 

एनआईईपीए की उत्पवत्त 1962 में ह ई थी 
a) शैक्षक्षक यो नाकारों, रशासकों और पयडवके्षकों के 

सलए एसशयाई क्षेरीय कें ि 
b) शैक्षक्षक यो नाकारों और रशासकों के सलए राष्ट्ि य 

स्टाफ कॉले  
c) एसशयन इिंस्ट ट्यूट ऑफ ए ुकेशनल प्लाननिंग एिंर् 

एर्समननस्िेशन 
d) राष्ट्ि य रशासन एविं शैक्षक्षक यो ना सिंस्थान 

 

55.  Cabinet Minister of Education in GOI in 
2024 is: 

a) Shri Dharmendra Pradhan 

b) Shri Jayant Chauhdary  

c) Shri Sukanta Majumdar 

d) Shri K. Sanjay Murthy 

2024 में िारत सरकार में लशक्षा कैबबनेट मतं्री कौन 
हैं 

a) श्री धमेंि रधान 
b) श्री  यिंत र्ौधर  
c) श्री सुकािंत म ूमर्दार 

d) श्री के. सिं य मूनतड 
56.  The Union Budget 2024 has increased 

the Standard Deduction under the New 
Tax Regime from Rs 50,000 to what 
amount? 

a) Rs 60,000 

b) Rs 75,000 

c) Rs 1,00,000 

d) Rs 1,25,000 

संघीय बजट 2024 में नए कर प्रणाली के तहत मानक 
कटौती को 50,000 रुपये से बढाकर ककतना ककया 
गया है?  

a) 60,000 रुपये  
b) 75,000 रुपये 
c) 1,00,000 रुपये 

d) 1,25,000 रुपये 

57.  The term 'Butterfly Effect' is associated 
with which field? 

(a) Quantum Physics 

(b) Chaos Theory 

(c) Environmental Science 

(d) Economics 

'बटरफ्लाई इफेक्ट' शब्द ककस क्षेत्र से संबंधित है?  
(a)  क्वािंटम भौनतकी 
(b)  केआस ससद्धािंत 
(c) पयाडवरण प्वज्ञान 
(d) अथडशास्र 
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58.  Who has been appointed as the new 
Chairperson of the Union Public Service 
Commission (UPSC) recently? 

(a) Suman Sharma 

(b) Preeti Sudan 

(c) Pradeep Kumar Joshi 

(d) Rajiv Nayan 

हाल ही में, संघ लोक सेवा आयोग (UPSC) के नए 
अध्यक्ष के रूप में ककस ेर्नय क्त ककया गया है?  
(a) सुमन शमाड 
(b) रीनत सुधन 
(c) रर्द प कुमार  ोशी 
(d) रा ीव नयन 

59.  The term 'Psephology' is related to: 
a) The study of earthquakes 

b) The study of elections and voting 

c) The study of fish 

d) The study of the mind 

'Psephology' शब्द संबंधित है:  
(a) भूकिं पों का अध्ययन 
(b) र्ुनाव और मतर्दान का अध्ययन 
(c) मछसलयों का अध्ययन 
(d) मक्ट्स्तष्ट्क का अध्ययन 

60.  The southernmost point of peninsular 
India, that is, Kanyakumari is 

a) North of Tropic of Cancer 

b) South of the Equator 

c) South of the Capricorn 

d) North of the Equator 

प्रायद्वीपीय िारत का सबस ेदक्षक्षणी बबदं , यानी 
कन्याक मारी है,  

a) ककड  रेखा के उत्तर में  
b) भूमध्य रेखा के र्दक्षक्षण में 
c) मकर के र्दक्षक्षण में 
d) भूमध्य रेखा के उत्तर में 

 

 ENGLISH LANGUAGE AND COMPREHENSION 
 

61.  Choose the alternative which best expresses the meaning of phrase. 

He passed himself off as a noble man. 

 
a) Was regarded as 

b) Pretended to be 

c) Was thought to be 
d) Was looked upon 

62.  Change the following sentence into direct/ indirect narration: 
 “What an excellent piece of art!” she said. 

a) She exclaimed with appreciation that it was an excellent piece of art. 

b) She exclaimed what an excellent piece of art was it. 

c) She had exclaimed that it was an excellent piece of art. 

d) She exclaimed with surprise was it an excellent piece of art. 

63.  A sentence has been given in active/ passive voice. Out of the four alternatives 
suggested, select the one which best expresses the same sentence in passive/ 
active voice. 

‘These days most of the students do their assignments with the help of the 
internet.’ 

 
a) These days most of the assignments are done with the help of the internet by the 

students. 

b) These days most of the students are doing their assignments with the help of the 

internet. 
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c) These days the assignments are done with the help of the internet by most of the 

students. 

d) These days the assignments are being done with the help of the internet by most of 

the students. 

64.  Choose the word which best expresses the meaning of the given word: BRIEF 
a) Limited 

b) Small 

c) Little 

d) Short 

65.  In the given sentence, four words are underlined, out of which one word is 
MISSPELT. Select the MISSPELT word. 
The schedule followed by today’s generation ultimately leads to stress and other 
adverse effects. 

a) schedule 

b) generation 

c) ultimately 

d) adverse 

66.  Correct the sentence from the given options:  
 ‘If he will work hard, he will get promotion.’ 
 

(a) If he works hard, he will get promotion. 

(b) He shall get promoted if he will work hard. 

(c) He will work hard to get promotion. 

(d) None of these. 

 

67.  Choose the correctly spelt word. 

a) Ommineous 

b) Omineous 

c) Ominous 

d) Omenous 

 

68.  Nearly to NTPS’s environmental activities (P)/ bloom around NTPC’s power plants 
(Q)/ and stand lush green testimony (R)/ one and a half crore trees (S)/ 
The proper sequence should be 

a) PRQS 

b) SQRP 

c) PQRS 

d) SRQP 

 

69.  Choose the one which can be substituted for the given word/sentence: 
A person of good understanding knowledge and reasoning power 

a) Expert 

b) Intellectual 

c) Snob 

d) Literate 
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70.  Choose the word which is the exact OPPOSITE of the given word: EXPAND 
a) Convert 

b) Condense 

c) Congest 

d) Conclude 

71.  It is a bad habit to __________ while someone is speaking. 
a) cut in 

b) walk over 

c) burst in 

d) intrude over  

72.  Select the most appropriate meaning of the given idiom. 
Pull a long face 

a) To look sad 

b) To look angry 

c) To look happy 

d) To flatter someone 

73.  If I _______ a bird, I would fly in the sky. 
a) were 

b) am 

c) was 

d) are 

74.  A sentence has been broken into five parts. Join these parts to make a meaningful 
sentence. 
1. do 2. today 3.  you 4. must 5. it  

a) 34152 

b) 25413 

c) 12543 

d) 51324 

75.  Fill in the blank to make the sentence meaningfully complete. 
The grapes are now ...... enough to be picked. 

a) ready 

b) mature 

c) ripe 

d) advanced 

Direction: Read the passage given below which is followed by a set of questions 
from S.Nos. 76 to 80. Choose the best answer to each question.  
 
Many people believe that science and religion are contrary to each other. But this notion 
is wrong. As a matter of fact, both are correlated to each other. The aim of both these 
institutions is to explain different aspects of life, universe and human existence. There is 
no doubt that the methods of science and religion are different. The method of science is 
observation, experimentation and experience. Science takes its recourse to progressive 
march towards perfection. The rules of religion are faith, intuition and spoken word of the 
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enlightened. In general, while science is inclined towards reason and rationality, 
spiritualism is the true essence of religion. 
 
In earlier times when man appeared on Earth, he was over-awed at the sight of violent 
and powerful aspects of nature. In certain cases, the usefulness of different natural objects 
of nature overwhelmed man. Thus, began the worship of forces of nature — fire, the sun, 
the rivers, the rocks, the trees, the snakes etc. The holy scriptures were written by those 
who had developed harmony between external nature and their inner self.  
 
Their objective was to ennoble, elevate and liberate the human spirit and mind. But the 
priestly class took upon itself the monopoly of scriptural knowledge and interpretation to 
its own advantage. Thus, the entire human race was in chains. Truth was flouted and 
progressive, liberal and truthful ideas or ideas expressing doubt and skepticism were 
suppressed and their holders punished. 

 
It was in these trying circumstances the Science emerged as a savior of mankind. But, 
its path was not smooth and safe. The scientist and free thinkers were tortured. This was 
the fate of Copernicus, Galileo, Bruno and others. But, by and by science gained 
ground. 
 

76.  Why does, according to the passage, man worship the force of nature? 
 

(a)  The holy scriptures advocate the worship of forces of nature 

(b)  The worship elevates and liberates the human spirit and mind 

(c)  The worship makes man believe in faith and intuition 

(d)  Forces of nature reach us spiritualism 

77.  Which of the following statements is true in the context of the passage? 
 

(a)  Science and religion are antagonistic to each other 

(b)  Science encourages worshipping of nature 

(c)  Religion is essential for external peace and harmony 

(d)  Regimental religion was replaced by scientific principles 

78.  According to the passage science and religion both: 
(a)  rely on the spoken word of the enlightened 

(b)  emerged out of the fear of man 

(c)  emerged from the desire of man to worship the forces of nature 

(d)  employ different methods of enquiry 

 

79.  Why is it said in the passage that, “science emerged as a saviour of mankind’’? 
 

(a)  Many great thinkers contributed to the progress of science 

(b)  Science takes recourse to progressive march towards perfection 

(c)  Science is inclined towards reason and rationality 

(d)  Man was bound in chains by religious orthodoxy 
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80.  Which of the following statements is not true in the context of the passage? 
 

(a)  Man worships the forces of nature 

(b)  Methods of science and religion are different 

(c)  Regimental religion got degenerated into orthodoxy 

(d)  Galileo and Bruno were disciples of Copernicus 

 

 QUANTITATIVE APTITUTE 
 

मात्रात्मक रूझान 

81.  If y=2x+3, what is the value of y when 
x=4? 

a) 8 

b) 9 

c) 10 

d) 11 

यद्रद y = 2x + 3 है, तो y का मान क्या है 
जब x = 4 है?  

a) 8 
b) 9 
c) 10 
d) 11 

82.  If 5a = 3125, then the value of 5(a - 3) is: 
a) 25 

b) 125 

c) 625 

d) 1625 

यद्रद 5a = 3125 है, तो 5 (a-3) का मान है: 
a) 25  
b) 125 
c) 625 

d) 1625 

83.  There is 60% increase in an amount in 6 
years at simple interest. What will be the 
compound interest of Rs. 12,000 after 3 
years at the same rate? 

a) Rs. 2160 

b) Rs. 3120 

c) Rs. 3972 

d) Rs. 6240 

सािारण ब्याज पर 6 वषों में रालश में 60 
प्रर्तशत की वदृ्धि ह ई है। रुपये 12,000 का 
चक्रवदृ्धि ब्याज, 3 साल के बाद उसी दर से 
क्या होगा? 

a) Rs. 2160 
b) Rs. 3120 
c) Rs. 3972 

d) Rs. 6240 

84.  The profit triples if the selling price is 
doubled. The profit percentage is: 
a) 110 

b) 50 

c) 100 

d) 42 

यटि ववरय मूल्य िोगुिा कर टिया जाए तो 
िाभ तीि गुिा हो जाता है। िाभ प्रनतशत है: 

a) 110 
b) 50 
c) 100 

d) 42 

85.  The ratio of the ages of two friends is 
7:9. After 10 years, it will be 19:23. What 
will be the average age after 7 years 
from now? 
a) 49 years 

b) 39 years 

िो िोस्तों की आयु का अिुपात 7:9 है। 10 
साि बाि यह अिुपात 19:23 हो जाएगा। अब 
से 7 साि बाि औसत आयु तया होगी? 

a) 49 वर्ड 
b) 39 वर्ड 
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c) 38 years 

d) 40 years 

c) 38 वर्ड 
d) 40 वर्ड 

86.  A sum of money is to be distributed 
among A, B, C, D in the proportion of 5 : 
2 : 4 : 3. If C gets Rs. 1000 more than D, 
what is B's share? 
 

a) Rs. 500 

b) Rs. 1500 

c) Rs. 2000 

d) None of these 

एक रालश A, B, C, D के बीच 5:2:4:3 के 
अन पात में ववतररत की जानी है। यद्रद C को 
रु. 1000 अधिक लमलता है D से, तो B का 
द्रहस्सा क्या है?  

a) रु. 500  
b) रु. 1500  
c) रु. 2000 
d) इनमें से कोई नह िं 

 
87.  In triangle ABC, angle ∠A is the largest 

angle and ∠A = 80 degree. If the ratio of 
the angle is 4 : 3 : 2, then what will be 
the smallest angle? 
a) 50 

b) 40 

c) 45 

d) 30 

बत्रभुज ABC में कोण ∠A सबसे बड़ा कोण है 
और ∠A = 80 डिग्री है। यटि कोण का अिुपात 
4 : 3 : 2 है, तो सबसे छोटा कोण तया होगा? 
a) 50 
b) 40 
c) 45 
d) 30 

88.  The radius of a circle is 50 cm. The 
distance of a cord AB from the centre of 
this circle is 14 cm. What is the sum of 
cord AB and diameter of the circle? 
a) 196 

b) 158 

c) 186 

d) 190 

एक वतृ्त की बत्रज्या 50 सेमी है। इस वतृ्त के 
कें द्र से एक जीवा AB की िरूी 14 सेमी है। 
जीवा AB और वतृ्त के व्यास का योग तया है? 
a) 196 
b) 158 
c) 186 
d) 190 

89.  How much time will it take for an amount 
of Rs. 450 to yield Rs. 81 as interest at 
4.5% per annum of simple interest? 

a) 3.5 years 

b) 4 years 

c) 4.5 years 

d) 5 years 

ककतना समय लगेगा, कक रुपये 450 की रालश 
पर ब्याज के रूप में रुपये 81 की कमाई होगी, 
सािारण ब्याज के 4.5% प्रर्त वषट पर? 

a) 3.5 वर्ड 
b) 4 वर्ड  
c) 4.5 वर्ड  
d) 5 वर्ड 

 
90.  What is the product of the first 4 whole 

numbers? 
a) 12 

b) 24 

c) 0 

d) 16 

प्रथम 4 पूणट संख्याओं का ग णनफल क्या है? 
a) 12 
b) 24 
c) 0 

d) 16 
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91.  What least number must be added to 
1056, so that the sum is completely 
divisible by 23? 

a) 2 

b) 3 

c) 18 

d) 21 

1056  में  ककस न्यूनतम संख्या को जोडा 
जाना चाद्रहए, ताकक योग 23 से पूरी तरह से 
वविाज्य हो? 

a) 2 
b) 3 
c) 18 

d) 21 

 

92.  In an election between two candidates X 
and Y, X got 33% of total votes casted 
and still lost by 55,522 votes. Find the 
total number of votes got by Y? 
a) 1,08,978 

b) 1,11,587 

c) 1,10,500 

d) 1,09,411 

 

िो उम्मीिवारों X और Y के बीच हुए चुिाव 
में, X को कुि िािे गए वोटों का 33% ममिा 
और किर भी वह 55,522 वोटों से हार गया। 
Y को ममिे कुि वोटों की संख्या ज्ञात कीक्जए? 
a) 1,08,978 
b) 1,11,587 
c) 1,10,500 
d) 1,09,411 

93.  A person crosses a 600 m long street in 
5 minutes. What is his speed in km per 
hour? 

a) 3.6 

b) 7.2 

c) 8.4 

d) 10 

एक व्यजक्त 600 मीटर लंबी सडक को 5 लमनट 
में पार करता है। उसकी गर्त ककमी प्रर्त घंटे 
में क्या है? 

a) 3.6 
b) 7.2 
c) 8.4 

d) 10 

 
 
 

94.  What is the average of first five multiples 
of 12? 

a) 36 

b) 38 

c) 40 

d) 42 

पहले पााँच 12 के ग णकों का औसत क्या है? 
a) 36 
b) 38 
c) 40 

d) 42 

95.  The population of a town is decreasing 
at a rate of 10% per annum. If the 
population two years ago was 20,000, 
what is the present population? 

a) 15000 

b) 15200 

c) 16000 

d) 16200 

ककसी नगर की जनसंख्या प्रर्त वषट 10% की 
दर से घट रही है। यद्रद दो वषट पहले जनसंख्या 
20,000 थी, तो वतटमान जनसंख्या क्या है? 

a) 15000 
b) 15200 
c) 16000 

d) 16200 
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96.  P pays Q a sum of ₹150 using coins of 

₹2, ₹5 and ₹10. He uses a total of 50 

coins. If the ratio of ₹2 & ₹5 coins used 

is 5 : 2. Then how many coins of ₹10 are 

used in the payment? 

a) 4 

b) 3 

c) 1 

d) 6 

 

P, Q को ₹2, ₹5 और ₹10 के मसतकों का 
उपयोग करके ₹150 की रामश का भुगताि 
करता है। वह कुि 50 मसतकों का उपयोग करता 
है। यटि उपयोग ककए गए ₹2 और ₹5 के 
मसतकों का अिुपात 5:2 है। तो भुगताि में ₹10 
के ककतिे मसतकों का उपयोग ककया जाता है? 
a) 4 
b) 3 
c) 1 
d) 6 

97.  Two students appeared at an 
examination. One of them secured 9 
marks more than the other and his 
marks was 56% of the sum of their 
marks. The marks obtained by them are: 
 

a) 39, 30 

b) 41, 32 

c) 42, 33 

d) 43, 34 

 

एक परीक्षा में दो छात्र उपजस्थत ह ए। उनमें से 
एक ने दसूरे की त लना में 9 अंक अधिक प्राप्त 
ककए और उनके अकं उनके अंकों के योग का 
56 प्रर्तशत थे। उनके द्वारा प्राप्त अंक इस 
प्रकार हैं: 

a) 39, 30 
b) 41, 32 
c) 42, 33 
d) 43, 34 

 
98.  A boy was asked to multiply a number 

by 25 but by mistake he multiplied by 45 
and the answer was 200 more than the 
correct answer. What was the number? 

a) 7 

b) 8 

c) 10 

d) 12 

एक लडके से एक संख्या को 25 से ग णा करने 
को कहा गया था, लेककन गलती से उसने उस े
45 से ग णा कर द्रदया और उत्तर सही उत्तर से 
200 अधिक था। वह संख्या क्या थी? 

a) 7 
b) 8 
c) 10 

d) 12 
 

99.  A can do a piece of work in 6 days 

working 8 hours a day. B can do the 

same work in 4 days working 6 hours a 

day. If they work together 8 hours a day, 

in how many days they will do this 

work? 

a) 3 days 

b) 3.5 days 

c) 2 days 

d) 2.5 days 

A एक काम को 6 द्रदनों में, 8 घंटे प्रर्त द्रदन 
काम करके कर सकता है। B वही काम 4 द्रदनों 
में, 6 घंटे प्रर्त द्रदन काम करके कर सकता है। 
अगर वे दोनों साथ में 8 घंटे प्रर्त द्रदन काम 
करत ेहैं, तो वे इस काम को ककतने द्रदनों में 
पूरा करेंग?े 

a) 3 days 
b) 3.5 days 
c) 2 days 

d) 2.5 days 
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100.  A: B: C is in the ratio of 3: 2: 5. How 
much money will C get out of Rs 1260? 

a) 252 

b) 125 

c) 503 

d) None of these 

A : B : C का अन पात 3 : 2 : 5 है । C 
को 1260 रुपये में से ककतना पैसा लमलेगा? 

a) 252 
b) 125 
c) 503 

d) None of these 
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Rough work 


